aZ+ b? = c?
a=Db,so: a2+ az=c?

a’+a2=122 + 12
2(a2) = 144
-+ by 2 az="72 I
a =172
a=28.5 (tick marks mean side lengths are congruent, or equal)
az+b?=c? |
a=Db,so: az + =
__ +a? =232
_ (a?) =529 + 23
____=12645
a=+
a=16.3
a2 +b2=___
,S0: 4+ =2
attat=__ 2
2(___)=6,400
a=v_
a=___ 80
az + b? = c2 |
a=Db,so: a?+4+az=__ | -
a?+at=__
+ = 8 —+




a= , SO: + = 2
+ 79
_ (@y)=___
—by2 =
a:
+ = 2 |
a=D>b,so: a2+ =
+ =
()= 0.956
=+
az+ =
, SO: + =
2 4 2= 2
( =
a=+v
= 14.5
+ = |
|
a=Db,so: a2+ a2=m?
+ =
+ = Tt




